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���������	�������
�  phenytoin  �3>?�<	��
?�=����+,��������	
  �
�  @;,�A�
����	�
������
�  phenytoin  (Dilantin®) ��F�@;,�A�
*����
G��	=���<,�=�	�������
��>��	� H *�=
�
���3�:���+������I�����+ �����������+,������<	��
?�=  80  �� @3L,��;3�	��M�L�=
�3>?�<	��
?�=2��=�	=<���=��� 1

�
�
���� 1 �������������������	� !������!
�

<	�2�� N = 80 Mean± S.D. Min Max Median

���+�
 46 - - - -

���:W�= 34 - - - -

�G��:�	� (kg) 80 56.07±10.57 35.00 90.0 55.00

�?���;= (cm) 80 160±6.95 148.00 177.0 155.00

BMI (kg/m2) 80 21.55±4.68 15.50 35.5 20.95

��
> (year) 80 37.79±13.18 18.00 60.0 35.00

L���
� phenytoin (mg/day) 80 287.5±69.60 100.00 550.0 300.00

AST (U/L) 80 26.0±15.00 14.00 180.0 24.00

ALT (U/L) 80 29.0±11.00 5.00 164 28.50

ALB (g/dL) 80 4.43±0.32 3.80 5.0 4.50

Scr (mg/dL) 80 0.86±0.25 0.07 2.4 0.80

Clcr (mL/min) 80 98.34±27.30 49.18 175.6 90.00

���<���=��� 1 ���?�3	��H��	��M�L�=�3>?�<	��
?�= 80  <	��
?�= ���+�
������ 46 ��
�����F� 57.5%  ���:W�=������ 34 �������F� 42.5% ���?������+�
�����?����:W�= 15% 23�
����
>��:�?�= 18-60 �f  ��
>�?���:W?  35 �f �3>?�<	��
?�=���G��:�	���+?�= 35-90 ��*3��	� L���
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�� phenytoin ������������������������� 100-550 mg/day  '(��)*+(��������������� 300
mg/day  -.����������//01�00��2304� 3 5� 6�7�/81�0��5����9��0:9�/80���;�8���/8:��138<�(
6���:��60=>?0��5��6.7/0�������6���0��2304� ��������@0�����5(�0���;�8���/8<:6���:��60=>?0��
5��6.7/06���0��2304�  138���������6���A5�80���91�� 77 5�

�������� 2 
����
����� phenytoin �������

��/��. Mean±S.D. Min Max Median

6H2I�� N=44

     �������5��M8��� 1 (mg/L) 15.90±7.00 1.73 >40 15.00

     �������5��M8��� 2  (mg/L) 14.20±7.20 1.51 38.61 13.68

     ����*(�8�/80��61��6.7/�5��M8��� 1 -.�
     5��M8��� 2 (I���A�8)

4 4 4 4

6H2*+98 N=33

     �������5��M8��� 1 (mg/L) 12.79±6.09 4.46 25.83 11.35

     �������5��M8��� 2 (mg/L) 11.01±6.00 2.50 23.96 9.86

     ����*(�8�/80��61��6.7/�5��M8��� 1 -.�
     5��M8��� 2 (I���A�8)

 4.06±0.27 4 6 4

��/��.��� N=77

     �������5��M8��� 1 (mg/L) 14.29±7.09 1.73 >40 13.41

     �������5��M8��� 2 (mg/L)   13.1±7.67 1.51 38.61 12.09

     ����*(�8�/80��61��6.7/�5��M8��� 1 -.�
     5��M8��� 2 (I���A�8)

  4.06±0.27 4 6 4

1�0:���8��� 2 �.0��:��1�������)�6.7/� 6H2I�� 44 5� ��������'�8��00�(� 40
mg/L 1;���� 1 5� -.�<�(<����:�����6H7�/61��6.7/�5��M8��� 1 )*�( 138:�/8//01�00���91��-.� ���
����������������)�6.7/���/�0�(� 2.5 mg/L 1;���� 2 5� 6*.7/6H2I�� 41 5� 6H2*+98 33 5� ��
�������)�6.7/���/�0�(� 2.5 mg/L 1;���� 1 5� 6*.7/6H2*+98 32 5� 1386*.7/���6���8���91�����



18

6�V� 73 5� �.0��:��1�������)�6.7/�6H2I�� H��(��������)�6.7/�5��M8��� 1 /��()�I(�8 3.50-
38.68 mg/L 6W.����������)�6.7/�6�(�0�� 15.90±7.00 mg/L 5(�0.�8�/8��/��.�������)�6.7/�
5��M8��� 1 6�V� 15.00 mg/L �������)�6.7/�5��M8��� 2 /��()�I(�8 2.73-38.61 mg/L 6W.����������)�
6.7/�6�(�0�� 14.20±7.20 mg/L 5(�0.�8�/8��/��.�������)�6.7/�5��M8��� 2 6�V� 13.68 mg/L �.0��
:��1�������)�6.7/�6H2*+98H��(��������)�6.7/�5��M8��� 1 /��()�I(�8 4.46-25.83 mg/L 6W.���
�������)�6.7/�6�(�0�� 12.79±6.09 mg/L 5(�0.�8�/8��/��.�������)�6.7/�5��M8��� 1 6�V� 11.35
mg/L �������)�6.7/�5��M8��� 2 /��()�I(�8 2.50-23.96 mg/L 6W.����������)�6.7/�6�(�0�� 11.01±
6.00 mg/L 5(�0.�8�/8��/��.�������)�6.7/�5��M8��� 2 6�V� 9.86 mg/L 6H2I��-.�6H2*+98��
�������)�6.7/�<�(-:0:(�80�� ��M86H2I��-.�6H2*+98���.�������)�6.7/�������<����I(�80���8
6�7�/8��1�0������ phenytoin ����������<�����-:0:(�80�� ��I(�8�/8������������������:�M8-:(
1.85 mg/kg Y38 5.97 mg/kg �������� 11 5�����������)�6.7/�)�I(�8 1.51-6.0 mg/L 0Z'����Y5��
5@�/�0��I�0<�� -:(��������� 5 5����������609� 25 mg/L [3�8H��(��/01�0������ phenytoin ������
����<�����-:0:(�80�� /�0'(��*�3�8/�1�3M�0��5���-:0:(�8�/80��0;�1����//01�0�(�80�� A��
�� phenytoin ��5@='���:96�V� genetic polymorphism [3�8�;�)*�0��0;�1����A��0��-��'`�H���:��
A�� cytochrome P450 mixed function oxidase enzyme   ��5���-:0:(�80��)�-:(.�5�A��0��
Y(���/���8H��e@0��� ���.)*��������)�6.7/��������-:(.�5�-:0:(�80�� -��1������������
����6����0��(28) -.�����*(�8���)I�)�0��61��6.7/�5��M8��� 1 -.�5��M8��� 2  ������*(�8-:0:(�80��
6�V��.)*��������)�6.7/�.�.8-:0:(�80��A����:�M8-:( 4-6 I���A�8 A��6W.��� 4.06±0.27 I���A�8 ��
1;���� 70 ���[3�86�V�'(��)*+( ���)I�����*(�8 4 I���A�8 0��61��6.7/�����������)�6.7/�5��M8��� 1
���������)�6.7/�'�80�(��������)�6.7/�5��M8��� 2 �@05� 6�7�/81�061��6.7/�����������)�6.7/�)�
I(�8�/80��0;�1����//01�0�(�80��

�� phenytoin ��0��0;�1����'(��)*+(�����= 95% 1�Y�00;�1��A��0��-��'`�H
(metabolized) ���:�� A�� cytochrome P450  mixed function oxidase enzyme  -.�/�0 5% 1����
//0��8�h''���)����6�9�[3�8��/���0 6H���W���M� creatinine clearance *�7/0���;�8���/8<:
138<�(���.:(/�������)�6.7/�



19

�������� 3   !�"���#$����%����&��'(��)����% (KM, Vm) 1��  Bayesian  method

     
�
  mass-balance  algorithm

��/��. 5(�H����96:/�? �9e� Mean±S.D. Min Max Median

I�� N=41 KM (mg/L) Bayesian 5.23±2.80 0.60 10.48 5.14

Mass-balance 4.00±0.00 4.00 4.00 4.00

Vm (mg/kg/d) Bayesian 12.01±1.79 8.13 16.69 11.95

Mass-balance 6.41±1.30 3.45 9.15 6.25

*+98 N=32 KM (mg/L) Bayesian 5.87±3.14 0.10 11.36 5.64

Mass-balance 4.00±0.00 4.00 4.00 4.00
Vm (mg/kg/d) Bayesian 10.94±3.22 0.66 18.56 11.41

Mass-balance 6.14±1.50 2.02 8.65 6.16

��� N=73 KM (mg/L) Bayesian 5.51±2.95 0.10 11.36 5.17

Mass-balance 4.00±0.00 4.00 4.00 4.00
Vm (mg/kg/d) Bayesian 11.54±2.82 0.66 18.56 11.85

Mass-balance 06.34±1.38 2.02 9.15 6.22

:���8��� 3  -'�85(�H����96:/�?��86`'�I1.�2�':�?�/8  Bayesian  method  -.�  mass-
balance  algorithm  (KM, Vm)  H��(�6H2I�� -.� 6H2*+98��5(�H����96:/�?��86`'�I1.�2�':�?
<�(-:0:(�80�� -.���/��.6�7�/�965���*?���)�������� 73 5� (:��//01�00��2304�6�7�/81�00��
�;�8���/8:���9��0:9 3 5�, �������)�6.7/�'�8609� 40 mg/L 1 5� -.��������)�6.7/�:�;�0�(�
2.5 mg/L 3 5�) H��(� KM �/8 Bayesian method ��5(�:�M8-:( 0.10-11.36 mg/L 5(�6W.��� 5.51 mg/L
5(� KM �/8 mass-balance algorithm ��0��0;�*��)*�6�(�0�� 4.00 mg/L '(��5(� Vm �/8
Bayesian method  ��5(�:�M8-:( 0.66-18.56 mg/kg/day ��5(�6W.��� 11.54±2.95 mg/kg/day 5(� Vm �/8
mass-balance algorithm ��5(�:�M8-:( 2.02-9.15 mg/kg/day ��5(�6W.���6�V� 6.34±1.38 mg/kg/day  [3�8
H��(�5(�H����96:/�?��86`'�I1.�2�':�?�/8 Bayesian method 0�� 5(�H����96:/�?��86`'�I
1.�2�':�?�/8���I�0� (KM 6�(�0�� 1-15 mg/L -.� Vm 6�(�0�� 1.4-14 mg/kg/day) /��()�I(�8



20

6����0��-.�'����Y�;�<�)I��;�����������)�6.7/�<�� 6�7�/81�05(�H����96:/�?��86`'�I
1.�2�':�?�/8 Bayesian method 6�V�5(����<��1�0�������-:(.����

1�00��)I�  mass-balance  algorithm 1�0;�*��5(� KM 0(/�6'�/*�3�85(� *.�81�0��M�1�
*�5(� Vm 6H7�/)I��;�����������)�6.7/� *�0��0������������)*�:(�8<�1�06�9� 1���5(��������
)�6.7/����'`���58���5(�)*�(6�V�5(�*�3�86'�/ -:(Y��*�0<�(��0��6�.����-�.8������ 5(�5���
6�������/8�������)�6.7/����'`���58��� 1���8586�9�6�(�0��5(�������<��1�98)�6.7/����'`���58���
5��M8-�0

'�@���/��.)�-��0���91��5��M8��M<�(6H��8H/���1�)I�)�0������5(� KM ���6*���'�)*�(A��
<�()I� KM 6�(�0�� 4 1�05(�H����96:/�?��86`'�I1.�2�':�?�/8���I�0�)� mass-balance
algorithm <�� 6H�����������@0���)�0���91��5��M8��M<�(��0������6�.����������

�������� 4 =�>���?�����
����� phenytoin �������@�� Bayesian method 
�
 mass-balance
                 algorithm >���
���������������A��(�$� ��B����  3

��/��. N Mean±S.D. Min Max Median

�������5��M8��� 3 1�00���;����A���9e� 59 8.69±6.58 1.28 42.28 7.82

Bayesian
�������5��M8��� 3 1�00���;����A���9e� 59 13.40±7.20 1.73 38.68 12.21

Mass-balance

�����)�6.7/�������1�985��M8��� 3 59 12.07±6.63 1.16 40.02 10.61

�.0���91��H������������������� phenytoin<�('��;�6'�/ 14 5� 1�00�����6�Z������
6*.7/ 0��'/�Y���������6H9��6:9�-.�1�0�m9�9�0������������� �;�)*�����Y385����(���7/)�
0������������� ���Y381�0�����������/80��61���������)�6.7/�5��M8��� 1 -.� 5��M8��� 3 1���5(�
�������)�6.7/�-:0:(�80����0138�(8I�M�(�������������������<�('��;�6'�/ ([3�8Y������������
��������'��;�6'�/ ����������'`���58���)�6.7/�0Z5��1�58��� 6H���<�(��0��6�.�������������
���������:(/���)�����������6�V�5�6�9�) �;�)*��������)�6.7/�0���-0�(8-.�<�(Y38'`���58���
(6H���-���(�.7������������ phenytoin 6H��8*�3�8�7M/0Z�;�)*��������)�6.7/�.�.8-.�:�/8)I�
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6�.� 7-35 ����������1381�6���'�('`���58��� 0��2304�)�5��M8��MH��(��������A�5.�I�0 ������
�������� phenytoin <�('��;�6'�/ 14 5� 59�6�V� 19.25% [3�8��5(�)0.�65��80��0��2304�����(����
-.�<���;����������������������<�('��;�6'�/ 14  5� //01�00���91�� 1386*.7/����������6���0���91��
59 5�

1�0:���8��� 4 6�����6�����.0���;�����������)�6.7/��/8��M8 2 �9e�0���������)�6.7/�
������1�98)�5��M8��� 3 H��(� 0���;����������� phenytoin �9e� Bayes ��5(�/��()�I(�8 1.28-42.28
mg/L ��5(�6W.���6�V� 8.69±6.58 mg/L ��5(�0.�8�/8��/��.6�V� 7.82 mg/L �.0���;������������9e�
mass-balance ��5(�/��()�I(�8 1.73-38.68 mg/L ��5(�6W.���6�V� 13.4±7.20 mg/L ��5(�0.�8�/8��/��.
6�V� 12.21 mg/L �.�������)�6.7/�������1�98)�5��M8��� 3 5(�/��()�I(�8 1.16-40.02 mg/L ��5(�6W.���
6�V� 12.07±6.63 mg/L ��5(�0.�8�/8��/��.6�V� 10.61 mg/L �.0��6�����6����5(�6W.����/80��
�;�����������)�6.7/��/8��M8'/8�9e�A��)I� studentns t-test (��0��0��1���/8��/��.6�V� normal
distribution) �.0��6�����6����5(�6W.���0���;�����������)�6.7/� Bayesian method -:0:(�80��
5(�6W.����������)�6.7/�������<��1�98)�5��M8��� 3  /�(�8�����';�5�+��8'Y9:9 (studentns t-test; p =
0.005)  �.0��6�����6����5(�6W.���0���;�����������)�6.7/� mass-balance algorithm -:0:(�8
0��5(�6W.����������)�6.7/�������<��1�98)�5��M8��� 3 /�(�8�����';�5�+��8'Y9:9 (studentns t-test; p =
0.048) 0���;�����������)�6.7/�A�� Bayesian method ��5(�6W.�����/�0�(��������)�6.7/�������
<��1�98)�5��M8��� 3 -:( mass-balance algorithm ��5(�6W.���'�80�(��������)�6.7/�������<��1�98)�5��M8
��� 3 0���;�����������)�6.7/��/8��M8'/8�9e�57/ Bayesian method -.� mass-balance algorithm
<�(��5���-�(��;�)�0���;�����������)�6.7/� A�� mass-balance algorithm <��Y�00;�*��5(� KM

6�(�0�� 4 mg/L [3�8�������-:(.�5�/�11���5(� KM ���<�()I(6�(�0�� 4 mg/L �;�)*�0���;�����������
)�6.7/��/8  mass-balance algorithm  ��5(�6W.���'�80�(�5(�6W.����������)�6.7/�������<��1�98)�5��M8
��� 3 -.�  mass-balance algorithm  :�/8)I��������)�'`���58���6�(���M� Y���������<�(���������
��)*�'��;�6'�/0Z<�('����Y)I��9e���M<��  '(�� Bayesian method *�5(� KM, Vm �/8�������-:(.�5�
-:(��/��.6�9��:��6H7�/)I�)�0��*�5(� KM, Vm ���6*���'�)�-:(.�5���M�0Z<��1�05(�H����96:/�?
��86`'�I1.�2�':�?�/8���I�0�[3�8<��1�00��2304�����(����-:(0Z��:��/�(�8)�0���91����/� -.�
6�V�:��-���/8���I�0���80.@(� [3�85(�H����96:/�?��86`'�I1.�2�':�?6�9��:�����)I���M�/�11�
<�(6*���'�138�;�)*��9e�0���;�����/8 Bayesian method ��5(�6W.����������)�6.7/�:�;�0�(�5(�6W.���
�������)�6.7/�������<��1�98)�5��M8��� 3
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�������� 5 ����!A�=�>���?�������=$�"���1���
����� phenytoin �������@�� Bayesian

method 
�
 mass-balance algorithm

�9e�0���;����    5���Y������;�����9�H.��    '��'(��0���;��������9�H.��

Bayesian 13/59 0.22

Mass-balance 14/59 0.24

1�0:���8���  5  �.0����'/�'��'(���/80���;��������9�H.���/8��M8'/8�9e�   ���� 
Chi-square test H��(�'��'(��0���;��������9�H.���/8   Bayesian  method  -.�  mass-balance  
algorithm <�(-:0:(�80����8'Y9:9 (Chi-square test; p = 0.157) '/�5.�/80����/'��@:9r��0��
�91�� Ho (Null Hypothesis) 6H���W���M�0���;�<�)I�����������  phenytoin )*�6*���'�0�����
����-:(.�5�)�0���;�����/8��M8'/8�9e�<�(-:0:(�80�� (Chi-square test; p = 0.157)

1�00��2304�H��(� Bayesian method ��5(�6W.���0���;�����������)�6.7/�<��:�;�0�(�
�������)�6.7/�������<��1�985��M8��� 3 -.� mass-balance algorithm ��5(�6W.���0���;�����������)�
6.7/�'�80�(��������)�6.7/�������<��1�985��M8��� 3 6H���W���M��(�1���5(����6*���'���*�(�8 2 �9e�
��80.(�� ����91��138<����./8�;�5(�0���;�������<��1�0��M8 2 �9e���6W.������0�� (linear combination
of prediction)
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�DE��� 1 >��G
��� !� A�#
�>�!��1�� !����H�I(�>>���?����
�!�
A$J������>���
������������

              ��B���� 3 ���A��H�I(�$�
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1�0������ 1 ��/��.I@���� 1 (���'��6*.����) 6�V�0���;�����������)�6.7/�����9�H.���/8
Bayesian method ��/��.I@���� 2 (���65�7�/8*��� +) 6�V�0���;�����������)�6.7/�����9�H.���/8
mass-balance algorithm ��/��.I@���� 3 (���65�7�/8*��� -) 6�V�0���;�����������)�6.7/�����9�
H.���/8�9e� linear combination of prediction A����:��/�(�8 59 :��/�(�8���)I�)�0���965���*? H�
�(� Bayesian method ����/��.0���;�����������)�6.7/����'(��)*+(:�;�0�(��������)�6.7/�������
<��)�5��M8��� 3 -.� mass-balance algorithm ����/��.0���;�����������)�6.7/����'(��)*+('�80�(�
�������)�6.7/�������<��)�5��M8��� 3 '(�� linear combination of prediction  ����/��.0���;����
�������)�6.7/����'(��)*+()0.�65��80���������)�6.7/�������<��)�5��M8��� 3 [3�8�.0��6�����6����
5(�6W.����/80���;�����������)�6.7/��/8�9e� linear combination of prediction 0���������)�
6.7/�������<��1�985��M8��� 3 A��)I� studentns t-test �965���*?H��(�<�(��5���-:0:(�80��/�(�8�����
';�5�+��8'Y9:9 (p = 0.384) 5���Y��)�0���;��������9�H.��:(�81�0�������)�6.7/�������<��1�98
5��M8��� 3 <�(609� ±5 mg/L �/8��M8'���9e� 57/ Bayesian method, mass-balance -.� linear
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combination of prediction H��(�5���Y���/80���;�����9�H.��6�(�0�� 13/59, 14/59 -.� 7/59
:��.;���� -.�'��'(���/80���;��������9�H.��6�(�0�� 0.22, 0.24 -.� 0.11 :��.;���� ��8:���8
��� 6 6�7�/)*�0���;��������9�H.��<�(609� ±3 mg/L 57/0���;��������9�H.��1�0�������)�6.7/�
5��M8��� 3 <�(609� ±3 mg/L H��(�5���Y��)�0���;��������9�H.���/8 linear combination of
prediction ��5(�5���Y����/����'@�57/ 13/59 '(���/8�9e� Bayes -.� mass-balance ��5���Y��)�0��
�;��������9�H.��6�V� 25/59 -.� 28/59 :��.;����  -.�6�7�/)*�0���;��������9�H.��<�(609� 2
mg/L  57/0���;��������9�H.��1�0�������)�6.7/�5��M8��� 3 <�(609� ±2 mg/L H��(�5���Y��)�0��
�;��������9�H.���/8 linear combination of prediction ��5(�5���Y����/����'@�57/ 22/59 '(���/8
�9e� Bayes -.� mass-balance ��5���Y��)�0���;��������9�H.��6�V� 31/59 -.� 34/59 :��.;����
-.�'��'(���/80���;��������9�H.��<�(609� ±2 mg/L 6�(�0�� 0.37, 0.52 -.� 0.57 :��.;���� [3�8
linear combination of prediction ��'��'(��0���;��������9�H.��:�;�-.�6�V�0���;���������5���
�9�H.��1�0�������)�6.7/�1�98<�(609� ±2 mg/L [3�8��5����(�6I7�/Y7/��85.9�90

�������� 6  A�#L��=�>���?�������=$�"���@��  Bayesian method 
�
 mass-balance algorithm

�9e�0���;���� 5���Y������;����
�9�H.�� ±5

mg/L

5���Y������;����
�9�H.�� ±3

mg/L

5���Y������;����
�9�H.�� ±2

mg/L

'��'(��0���;����
����9�H.�� ±5

mg/L

Bayesian 13/59 25/59 31/59 0.22

Mass-balance 14/59 28/59 34/59 0.24
         7/59 13/59 22/59 0.11Linear

combination of
prediction

1�00��2304�)�5��M8��M<�(���������-H��� -.��������'(��)*+(��`���6*87/0*�� (gingival
hyperplasia) ��85���`���6[7�/8[3� '��'� -���(��������<�(Y38 40 mg/L 138:�/8��+�:95/���-.
6/�)1)'(�������)�0������������� 0�����0����04�/�(�8:(/6�7�/8




